
 

ej¤e¡ fËnÀfœ 
HL¡cn ®nË¢Z (¢h‘¡e) 

 

       h¡wm¡                                              f§ZÑj¡e- 05 

1. ¢ejÀ¢m¢Ma ¢hou¢V Lj­h¢n 40 ¢V n­ë hÉ¡MÉ¡ L­l¡ x                                                                             5 

        pj­ul j§mÉ x   Ešl - 
 

       English                                           Full Marks - 05 

A. Write a short note about the benefits of early rising.                                                                          5 

Ans : 
 

       Mathematics                                           Full Marks - 15 

1. e£­Ql fËnÀ…¢ml p¢WL Ešl ¢eh¡ÑQe L­l¡ x                                                                           1 x 2 = 2 

a)  x2 – 4p2x + x + r2 = 0 ¢àO¡a pj£Ll­el h£Sàu pj¡e ¢L¿º ¢hfl£a ¢Qq²k¤š² q­m p Hl j¡e q­h-   

    (i) 2    (ii) 1      (iii) ±
�

�
      (iv) ±

�

�
 

b)  � + 2�� ∝ � − 2��  q­m -   

    (i) � ∝  ��      (ii) � ∝  �      (iii) ��  ∝  ��   (iv) � ∝  
�

�
 

2. e£­Ql fËnÀ…¢ml Ešl c¡J x                                                                                                 1 x 3 = 3 

i)  �√3 − 2� Hhw Hl Ae¤hå£ Lle£l …egm La? 

ii)  ���� ���� = 1 q­m tan �
� � �

�
� Hl j¡e La? 

iii) HL¢V NË¡­jl haÑj¡e SepwMÉ¡ � Hhw fË¢a hRl SepwMÉ¡ hª¢Ül q¡l 2�% q­m, � hRl fl SepwMÉ¡ La  
      q­h? 

 

3. e£­Ql fËnÀ…¢ml Ešl c¡J x                                                                                               2 x 5 = 10 

i)  √� , √� , √� œ²¢jL pj¡e¤f¡a£ q­m ®cM¡J (a + c)2 – b2 = a2 + b2 + c2 

ii)  HL¢V pjh¡ý ¢œï­Sl f¢lhª­šl ®L¸â O q­m, ®k ®L¡­e¡ HL¢V h¡ýl à¡l¡ Evfæ pjÈ§M ®L¸âÙÛ ®L¡­Zl j¡e La? 
 

iii)  

��

� �  �
 �  

��

� �  �

� �  �
    Hl plmaj j¡e ¢eZÑu L­l¡z  

iv) ®L¡­e¡ ®Q¡­Pl A¡uae v Oe HLL, pjNËa­ml ®rœgm s hNÑ HLL, EµQa¡ h HLL Hhw ï¢jl hÉ¡p¡dÑ r  

    HLL q­m ®cM¡J ®k � = 2� �
�

�
+ 

�

�
� 

v) HL¢V plm­lM¡ ∆��� Hl AB J AC ®L kb¡œ²­j D J E ¢h¾cE­a Hjei¡­h ®Rc Llm ®k 
��

��
=

��

��
  

   q­m¡z k¢c < ��� = < ��� qu a­h fËj¡e L­l¡ ∆��� pj¢àh¡N§ ¢œi¥Sz 

 

       Physics                                           Full Marks - 10 

1. hý¢hLÒf ¢i¢šL fËnÀ…¢ml p¢WL Ešl¢V ¢eh¡ÑQe L­l¡ x [¢VL (√ ) ¢Qq² ¢c­u ]                                     1 x 2 = 2 

i)  HLC fc¡­bÑl J HLC hÉ¡p¡­dÑl c¤¢V ®N¡m­Ll HL¢V g¡yf¡ J AeÉ¢V ¢e­lVz Eiu ®N¡m­Ll HLC a¡fj¡œ¡  hª¢Ü Ll­m-    

(a) g¡yf¡ ®N¡m­Ll fËp¡lZ ®h¢n q­h    (b) ¢e­lV ®N¡m­Ll fËp¡lZ ®h¢n q­h   
(c) Eiu ®N¡m­Ll fËp¡lZ HLC q­hz    (d) ®L¡eÚ ®N¡m­Ll fËp¡lZ ®h¢n q­h a¡ hm¡ pñh eu 

ii) ­L¡­e¡ f¢lh¡q£l fËh¡qj¡œ¡ ¢à…e Hhw HLC p­‰ pju ¢à…e Ll¡ qm, f¢lh¡q£­a Evfæ a¡f 
(a) Q¡l …e q­h       (b) A¡V …e q­h     
(c) ¢à…e q­h        (d) Af¢lh¢aÑa b¡L­h 
 

(1) 
 



 
2. e£­Ql fËnÀ…¢ml Ešl c¡J x                                                                                                  1 x 2 = 2 

i)  Aham cfÑZ ®b­L La c§­l hÙº l¡M­m fË¢a¢hð J hÙºl A¡L¡l pj¡e qu? 

ii) X¡u¡e¡­j¡­a ®L¡eÚ n¢š² ®L¡eÚ n¢š²­a l¦f¡¿¹¢la qu? 

3. e£­Ql fËnÀ…¢ml Ešl c¡J x                                                                                                  2 x 3 = 6 
i)  4 AÉ¡Vj¢Øgu¡l Q¡­f J 270C Eo·a¡u ®L¡e HL¢V NÉ¡­pl A¡uae 1500 ccz  STP ®a I NÉ¡­pl A¡uae  
     La ¢mV¡l q­h? 
ii)  HL¢V A¡­m¡L l¢nÈ L¡­Ql gm­L 600 ®L¡­e A¡f¢aa qmz fË¢ag¢ma l¢nÈ J fË¢apªa l¢nÈ flØfl mð q­m  
      L¡­Ql fË¢apl¡´L La? 
iii)  HL¢V ¯hc¤É¢aL h¡¢a­L 220 ®i¡ÒV m¡C­e k¤š² Ll­m 1 AÉ¡¢Çfu¡l a¢sv fËh¡q O­Vz H­L 110 ®i¡ÒV m¡C­e  
       k¤š² Ll­m La a¢sv fËh¡q OV­h? 
 

 

       Chemistry                                         Full Marks – 10 

1. e£­Ql fËnÀ…¢ml Ešl c¡J x                                                                                                  1 x 2 = 2 

i) a¢sv ¢h­nÔo­Zl pju LÉ¡­b¡X H pwO¢Va ¢h¢œ²u¡¢V qm-  
(a) S¡le    (b) ¢hS¡le    (c) fË¢aÙÛ¡fe    (d) pw­k¡Se 

ii) plmaj AÉ¡m¢L­e q¡C­XË¡­Se flj¡e¤l pwMÉ¡ qm-   
(a) 1     (b) 4     (c) 1      (d) 3 

2.                                                                                                                                                       1 x 2 = 2 

i) ¢Lfk­¿» fËÙºa Ll¡ k¡u Hje HL¢V NÉ¡­pl e¡j ®m­M¡z  
ii) f¢m¢b­el j­e¡j¡­ll e¡j L£? 

3.                                                                                                                                                       2 x 3 = 6 

i) STP ®a 11.2 ¢mV¡l AÉ¡­j¡¢eu¡ ¯al£ Ll¡l SeÉ ¢L f¢lj¡e AÉ¡­j¡¢eu¡j ®LÓ¡l¡CX Hl p­‰ L¢mQ¥e ¢j¢n­u Ešç 

Ll­a q­h Hhw fË­u¡Se£u L¢mQ¥­el il ¢eZÑu L­l¡z 

ii) AÉ¡­j¡¢eu¡l m¤Cp XV ¢Qœ A¡y­L¡z 

iii) L£i¡­h l©f¡¿¹l Ll­h x  AÉ¡¢p¢V­me       > C­be 

 
        Life Science                                           Full Marks - 15 
A. e£­Ql fËnÀ…¢ml Ešl c¡J x (MCQ)                                                                                1 x 2 = 2    

i)  ®l¡m¡l ¢Si qm HLfËL¡l-   
(a) fËLV ¯h¢nøÉ    (b) fËµRæ ¯h¢nøÉ    (c) pqfËLV ¯h¢nøÉ   (d) ApÇf§ZÑ fËLV ¯h¢nøÉ 
ii) hÉ¢š²S¢e S£hS¢el pw¢rç f¤el¡hª¢š L­l- HC p§­œl fËhš²¡ q­me-  
(a) X¡lECe    (b) ®j­äm    (c) ®q­Lm    (d) mÉ¡j¡LÑ 
 

(VSA)                                                                                                                                               1x3=3 

i)  AÉ¡¢¾V-¢S­î­l¢mm L¡­L hm¡ qu? 

ii) n¡l£lhªš£u i¡mi L¡­L h­m? 

iii) Ry, Rg, Wy J Wg NÉ¡­jV…¢m ®L¡eÚ ¢S­e¡V¡Cf ®b­L Evfæ qu? 
 

B. ¢ejÀ¢m¢Ma fËnÀ…¢ml pw¢rç Ešl Úc¡J x                                                                                                   2 x 5 = 10    

i) q¡y¢Q, L¡¢n, h¢j ¢eu¿»ZL¡l£ j¢Ù¹­×Ll Awn¢Vl e¡j L£? p¤Q¥jÀ¡L¡­äl NqÆl­L L£ h­m? 

ii) ­L¡­e¡ N¡­Rl f¡a¡l ®L¡­n ®œ²¡­j¡­S¡j pwMÉ¡ 14 a¡l fl¡N­lZ¤, fl¡N­lZ¤ j¡aª­L¡n, ¢Xð¡Z¤, ppÉ ¢eE¢LÓu¡­pl  

    ®œ²¡­j¡­S¡j pwMÉ¡ La? 

iii) HLSe ü¡i¡¢hL ¢q­j¡¢g¢mu¡ h¡qL Ù»£­m¡­Ll p­‰ HLSe ü¡i¡¢hL f¤l¦­ol ¢hh¡q q­m a¡­cl f¤œ-LeÉ¡­cl  

     ¢q­j¡¢g¢mu¡ qJu¡ pñ¡he¡ La a¡ ®QL¡l ®h¡­XÑl p¡q¡­kÉ ®cM¡Jz 

iv) X¡u¡X J ®VVË¡X L£? 

v)  AÉ¡­j¡¢e¢g­Lne L£? Ec¡qlZ c¡Jz 

 

(2) 



ej¤e¡ fËnÀfœ 
HL¡cn ®nË¢Z (Lm¡) 

 

     h¡wm¡                                           f§ZÑj¡e- 20 
 

 e£­Ql Ae¤­µRc¢V f­s fËnÀ…¢ml Ešl c¡J x 
lh£¸âe¡b W¡L¥l pjNË ¢h­nÄl L¢hz i¡l­al A¡l ®L¡­e¡ L¢h HC ¢hnÄMÉ¡¢a ASÑe Ll­a f¡­le¢ez a¡yl S¾j 7 ®j 1861 
¢MËØV¡­ëz LmL¡a¡l ®S¡s¡p¡y­L¡l ¢hMÉ¡a W¡L¥lh¡¢s a¡yl S¾jÙÛ¡ez ¢fa¡ jq¢oÑ ®c­h¸âe¡b W¡L¥l, j¡a¡ p¡lc¡ ®ch£z ú¥­ml 
Q¡l ®cJu¡­ml N¢™ a¡y­L ®L¡­e¡¢ce A¡VL¡­a f¡­l¢ez ú¥­m a¡yl je hpa e¡z a¡C a¡y­L hm¡ qa ú¥m f¡m¡­e¡ ®R­mz HC 
ú¥m f¡m¡­e¡ HL¢ce ¢hnÄL¢h ®Ma¡h m¡i Ll­mez ®R¡­V¡­hm¡ ®b­LC a¡yl L¢ha¡ ®mM¡ öl¦z j¡œ h¡­l¡ hRl hu­p ®mM¡ 
a¡yl L¢ha¡ pLm­L Ah¡L L­l ¢c­u¢Rmz ApwMÉ L¢ha¡ ¢a¢e p¡l¡ S£he d­l ¢m­M­Rez a¡yl E­õM ­k¡NÉ L¡hÉNË¿Û qm- 
®p¡e¡lal£, hm¡L¡, N£a¡”¢m, A¡­l¡NÉ, N£a¡¢m, f¤eÕQ, ®no ®mM¡ CaÉ¡¢cz a¡yl ®mM¡ ¢hMÉ¡a e¡VL…¢ml j­dÉ A¡­R X¡LOl, 
lš²Llh£, j¤š²d¡l¡, AQm¡uae, ¢hpSÑe CaÉ¡¢cz a¡yl EfeÉ¡p …¢ml j­dÉ E­õM­k¡NÉ qm- ­e±L¡X¥¢h, ®N¡l¡, ®Q¡­Ml h¡¢m, 
O­l-h¡C­l, Qa¥l‰ CaÉ¡¢cz ApwMÉ fËh­ålJ ¢a¢e pËø¡z fË¡u A¡s¡C q¡S¡l N¡e ¢a¢e lQe¡ L­l­Rez 1921 ¢MËØV¡­ë ¢a¢e 
¢hnÄi¡la£ ¢hnÄ¢hcÉ¡mu fË¢aù¡ L­lez 1913 ¢MËØV¡­ë ‘N£a¡”¢m’ e¡jL L¡hÉNË­¿Ûl SeÉ ¢a¢e ‘®e¡­hm f¤l¦ú¡l’ m¡i L­lez 
i¡l­al ü¡d£ea¡ pwNË¡­j a¡yl Ahc¡e ØjlZ£u q­u A¡­Rz 1941 ¢MËØV¡­ël 7 A¡­N¡ØV ¢a¢e fl­m¡L Nje L­lez 

 

1. e£­Ql fËnÀ…¢ml Ešl c¡J x                                                                                                    1x10=10 
1.1 lh£¸âe¡b W¡L¥l L­h, ®L¡b¡u S¾j NËqZ L­le? 
1.2 lh£¸âe¡b W¡L¥­ll ¢fa¡ J j¡a¡l e¡j L£? 
1.3 a¡y­L ú¥m f¡m¡­e¡ ®R­m hm¡ qa ®Le? 
1.4 lh£¸âe¡b La hRl hu­p L¢ha¡ ®m­M pLm­L Ah¡L L­l ¢c­u¢Rm? 
1.5 lh£¸âe¡­bl ®mM¡ c¤¢V EfeÉ¡­pl e¡j ®m­M¡z 
1.6 ®L¡e L¡hÉ NË­¿Ûl SeÉ ¢a¢e ®e¡­hm f¤l¦ú¡l f¡e? 
1.7 ¢a¢e La ¢MËØV¡­ë ¢hnÄi¡la£ ¢hnÄ¢hcÉ¡mu fË¢aù¡ L­le? 
1.8 ¢a¢e La…¢m N¡e lQe¡ L­le? 
1.9 ‘lh£¸â’ në¢Vl p¢å¢h­µRc L­l¡? 
1.10 ¢a¢e La ¢MËØV¡­ë fl­m¡L Nje L­le? 
 

2. e£­Ql fËnÀ…¢ml Ešl c¡J x                                                                                                       1x5=5 
2.1 ¢el­fr La¡Ñ L¡­L h­m? 
2.2 pðåfc L¡lL eu ®Le? 
2.3 ‘®c¡­um e¡jL f¡¢M’- fc…¢m pj¡phÜ L­l pj¡­pl e¡j ®m­M¡z 
2.4 j¤MÉLjÑ hm­a L£ ®h¡­T¡? 
2.5 ®L¡e h¡­QÉl l©f¡¿¹l pñh eu? 
 

3. Ae¢dL 60¢V n­ë HL¢V Ae¤­µRc lQe¡ L­l¡ x                                                                                      3 
    ¢h‘¡­el AffË­u¡N pÇf­LÑ pw¢rç d¡le¡ c¡Jz 
 

4. Q¢ma N­cÉ h‰¡e¤h¡c L­l¡ x                                                                                                             2 
Man is a social animal. He can not live alone. No person can be happy without having sincere 
friends. But selfish persons fail to make real friendship.  

 

       English                                                 Full Marks - 20 

1. Read the following passage and answer the questions given below: 
Friendship is intimacy or attachment one has for another. It is based entirely on mutual attraction. It 
has nothing to do with self interest or bondage. A man makes friends, not for any advantage it will 
bring him but for its own sake. 
 

We generally think that the persons who consort with us, humorous, and flatter us are our friends. But 
all of them are not friends in the true sense of the term. Most of them are fair-weather friends. They 
keep us company so long as we are rich and prosperous. No sooner do we fall evil days than they 
discrete us. 
 
 

(3) 
 



 
 

A true friend is one who stands by us, no matter whether we are in prosperity or adversity. He helps 
us when we need help. He comforts and consoles us when we lie on sorrow deeply distressed. True 
friendship is one of the blessings that this world can give us. 

 

A. Tick (√) the correct answer:                                                                                                         1x4=4 
(i) Friendship means   (a) bond        (b) discord   

(c) mutual relation between one another (d) intimacy 
(ii) A person makes friend for-  (a) self interest   (b) opportunity  

(c) gratification   (d) intimacy 
(iii) The fair weather friends always (a) accompany us  (b) desert us when our misery corner  

(c) advocate us in our time of need  (d) none of these 
(iv) What is the synonym of the word ‘prosperity ’ (a) success (b) bad 

(c) right (d) poverty 
 

B. Write 'T' for 'True' and 'F' for 'False' statements:                                                                     1x3 =3 
(i) The persons who flatter us are not true friends. 
(ii) True friends desert us in our evil days. 
(iii) Friendship is nothing but mutual attraction of self-interest. 

 

C. Answer the following questions:                                                                                               1×3=3 
(i) Who is called a fair weather friend ? 
(ii) What is one of the blessings of the world to us ? 
(iii) Who is called  true friend? 

 

2. Do As Directed:                                                                                                                           1×5=5 
(i) Do or die. (make it complex) 
(ii) The news will please you. (Change the voice) 
(iii) He left the place as soon as he saw her. (Split into two simple sentences) 
(iv) The mother said to her son, “Where did you go yesterday?” ( narration change) 
(v) He succeeded in passing the exam. (Write the adjective form of ‘succeeded’.) 

 
3. Write a paragraph on Sound Pollution.                                                                                                 5 

 

      C¢aq¡p                                             f§ZÑj¡e- 10 

1. HL¢V h¡­LÉ Ešl c¡J x                                                                                                1 x 4 = 4 
L) L¡l pi¡f¢a­aÆ S¡a£u ¢nr¡ f¢loc N¢Wa qu? 
M) ‘ü­cn h¡åh p¢j¢a’ ®L NWe L­le? 
N) ‘nª́ Mm TwL¡l’- NË¿Û¢V L¡l ®mM¡? 
O) jd§p¤ce …fËË ¢hMÉ¡a ®Le? 
 

2. e£­Ql ¢ae¢V fË­nÀl Ešl c¡J x                                                                                       2 x 3 = 6 
L) h¡l­c±¢m paÉ¡NËq A¡­¾c¡me ®Le öl¦ qu? 
M) H¢nu¡¢VL ®p¡p¡C¢V ®L L­h fË¢aù¡ L­le? 
N) Eà¡Ùº hm­a L£ ®h¡T¡u? 

 

      i¨­N¡m                                           f§ZÑj¡e- 10 

1. HL-Lb¡u Ešl c¡J x                                                                                                 1 x 4 = 4 
L) ¢qj¯nm L¡­L h­m? 
M) AÉ¡­l¡pm L¡­L h­m? 
N) i¡l­al eh£eaj A‰l¡­SÉl e¡j ¢L? 
O) i¡l­al hªqaj ec£ à£­fl e¡j ¢L? 
 

2. pw­r­f hÉ¡MÉ¡ L­l¡ x                                                                                                2 x 3 = 6 
L) hª¢øl Sm pwlr­e a¡¢jme¡X¥l ANËNeÉ ï¢jL¡ A¡­m¡Qe¡ L­l¡z 
M) jl¦i¢̈j­a h¡u¤ fËd¡e n¢š² l©­f L¡S L­l ®Le? 
N) i¡l­al iü̈NÑ L¡­L h­m Hhw ®Le? 
 

(4) 




